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PART A: Grammar
Directions: Choose the word or phrase (1), (2), (3) or (4) that best completes each

sentence. Then mark the correct choice on your answer sheet

66.1t .........., SO wWe cannot go on a picnic at the moment.

1. rains 2. rained 3. raining 4.is raining
67. ..........you please close the door?

1. Should 2. Could 3. Did 4. Didn’t
68. There is a garden. Let’s go into ...........garden. It’s sunny outside.

1.a 2. any 3.some 4. the
69. Who ......... the laundry last night?

1. did 2. was 3. could 4. had
70. He ............the apartment twice a month.

1. was cleaned 2. clean 3. cleans 4.is cleaned
71.1f 1 ............older, | would be able to vote in elections.

1. had 2.am 3. have 4. were
72.'m...........| can’t help you with that.

1. apologies 2. afraid 3.regret 4. sad
73. He wondered what .............

1. is the time? 2. was the time? 3. the time was 4.the timeis

74. You cannot wear those shoes. They are ...

1. too small 2. small enough 3. little 4. very little

75. He said he had seen her the ...........night.

1. last 2. before 3. previous 4. earlier
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PART B: Reading Comprehension

(4). Then mark it on your answer sheet.

Directions: Read the following passages and choose the best choice (1), (2), (3) or

A businessman went to see his doctor because he could not ----76---- at night. The

doctor examined him carefully and said to him, “Your ----77---- is that you need

to learn to relax. Have you any hobbies?” He said, “No, | don’t have any time for

hobbies.” “Well,” the doctor answered, “that is your main problem, you see. You

don’t have time for anything ----78---- your work. Why don’t you ----79---- to

paint pictures?” The businessman said, “I will try.” The next day he telephoned

the doctor and said, “That was a very good ---80---. Thank you. I've painted

fifteen pictures since | saw you.”

76. 1.sleep 2. walk

77. 1. flight 2. goal

78. 1. with 2. except
79. 1.seem 2. win

80. 1. company 2. secretary

3. watch
3. problem
3.since
3. learn

3. struggle

4. write

4. choice
4. about
4. refuse

4. idea

PART C: Reading Comprehension

(4). Then mark it on your answer sheet.

Directions: Read the following passages and choose the best choice (1), (2), (3) or

Camping is an outdoors recreation enjoyed by people all over the world. It is an

excellent way to explore the countryside. Many people learn to camp with an

organization such as the Scouts. Others may get their first taste of camping on a

camping holiday in the mountains or beside the sea. In many countries there are

special campsites for tourists, so you do not always have to carry a tent with

you. The campsite may provide one.

It is fun, however, to learn the basic skills of camping: how to pitch (put up) a tent,

how to make a fire for cooking, how to pack a rucksack, how to keep your camp

clean and tidy, how to strike (pack up) camp. Camping organizations can give

much help and advice, and there are many useful books to read.
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81.

82.

83.

84.

85.

Before making camp, you must always make sure you have permission from the
owner of the land on which you want to camp. Next, it is important to choose
the right spot - away from cliff edges or wet soft places, and not beneath trees
(branches may fall, and if it rains, the water will fall on your tent).

Choose level ground, if possible. Make sure you have fresh drinking water
available; perhaps it is necessary to use it later on.

According to the passage, camping is ...........
1. done by people living in the countryside

2. a way to attract tourists
3. a global activity

4. specially for people who are with the Scouts

The word "one" in line 4 refers to ............

1. tourist 3. site

2. tent 4. country

Which of the following best shows the main focus of paragraph 2?
1. Cooking 3. Fun

2. Organizations 4. Skills

According to the passage, ...........
1. it is not wise to pitch a tent beneath a tree

2. camping near the sea is a rare event
3. cliff edges are wonderful to watch

4. most land owners enjoy letting people camp on their land

Paragraph 3 is intended to give the reader information about ...........
1. who to contact before going camping

2. what to do during an emergency
3. where to camp

4. what to take with you on a camping trip
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86.

87.

88.

89.

90.

91,

92,

93.

94.

85.

Lol a4l

PART A: Grammar
Directions: Choose the word or phrase (1), (2), (3) or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet

Coffee s ... in Colombia.

1. grown 2. been growing 3. grew 4. been grown
If they .......... the movie, they will see it again.

1. would like 2. will like 3. like 4. liked
Sometimes | use my computer ........... download music.

1. for 2. at 3.in 4.to

He actually prefers ... to bed late every night.

1.go0 2. gone 3. goes 4.togo
Itis too late. We .......... take the local bus. It makes too many stops.

1. must 2. shouldn’t 3. could 4. didn’t

§ i SRR black shoes, | would wear them.

1. have 2. had 3. would have 4. have had
The baby ......... milk bottle is empty is crying.

1. whose 2. who 3. whom 4. whoever
I can’t explain the situation. It's ... complicated.

1. not enough 2. many 3. too 4. enough
There used .......... a large tree in front of my house.

1. be 2. being 3. been 4.to be

It was an awful day. It was the.............. day of my life.

1. worst 2. worse 3. badly 4. bad
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PART B: Reading Comprehension
Directions: Read the following passages and choose the best choice (1), (2), (3) or
(4). Then mark it on your answer sheet.

Global Warming is a term used to describe an increase in the average surface
temperature of the Earth over a period of time. It can refer to past periods of
warming, such as the one occurred about 15,000 years ago, to the end of the
last Ice Age, but it is usually used to mean the change in the climate that is
thought likely to occur as a result of the greenhouse effect, as explained below.

The present average surface temperature of the Earth is about 15°C (59°F) and this
varies by a few tenths of a degree each year. Over longer periods of time, the
Earth's surface has been both cooler (perhaps about 11°C or 12°C: between 52°F
and 54°F) during the Ice Ages, or glacials) and warmer (perhaps about 16°C:
61°F) during some periods between the Ice Ages (the interglacials). Over the past
100 years or so, the average surface temperature has increased by about
0.5°C (1°F).

The most probable explanation for the present global warming is that it is the
result of increasing concentrations in greenhouse gases - such as carbon dioxide,
methane, and chlorofluorocarbons - which allow energy from the to reach the
Earth, but prevent some of it from escaping back into space. These gases have
been steadily building up for over 100 years. Since we will almost certainly
continue to rely on fossil fuels as our main source of energy for many years to
come and since the Earth's population is expected to have doubled by the year
2100, the concentrations of greenhouse will continue to rise throughout the
next century. It is estimated that global warming will increase the average
temperature of the Earth by between 1°C and 2°C (2°F and 4°F) by the year
2100.

96. What is the best definition for global warming?
1. a collection of different climates around the world

2. the change in the climate that happens as the Earth grows older
3. an increase in the average surface temperature of the Earth over a period of time

4. the past periods of warming about 15,000 years ago, towards the end of the last Ice Age.

97. According to the passage, the surface temperature of the Earth ............
1.isnow 16°C 3. was coolest during the interglacials

2. has increased 0.5°C every year 4. was about 11°C during the glacials
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98. The present global warming happened because of .............
1. energy escape into space

2. an increase in some gases in the atmosphere
3. the energy flow from the Sun to the Earth
4. the Earth's getting warm during the Ice Ages

99. The word "steadily" in the 3rd paragraph is closest in meaning to ............. ,
1. commonly 3. certainly

2. previously 4. continuously

100. It is NOT expected that in the near future, ...
1. fossil fuels will stop to be used

2. the Earth's population will increase
3. global warming will be more severe than it is now

4. greenhouse gases will continue to decrease throughout the next century




